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List L3 (FNKEAE)

#include<iostream>
#include<list>
using namespace::std;
class func {
/MEF c++ FRAEREAREE list =X vector A28, LM —TEZIRMVELL.
/BBFTED . INE. BUERIFEEIRIE,
public:
list<int>:iterator index_iter;
list<int>:iterator coe_iter;
list<int> coe, index;//ZE X int & list, DBIEFEREL, 5%,
int num_of _term;
void input_func() {//E N & E35%
cin >> num_of term;
for (inti = 0;i < num_of_term; i++) {
int temp_coe, temp_index;
cin >> temp_coe >> temp_index;
coe.push_back(temp_coe);
index.push_back(temp_index);

}
void sort() {//HEFF &%, ¥ coe M index #EFRIZE index BIA/NMAENHEF]
index_iter = index.begin();
coe_iter = coe.begin();
list<int>::iterator coe_compare, index_compare;
for (; index_iter != index.end(); index_iter++, coe_iter++) {
coe_compare = coe_iter, index_compare = index_iter;
for (coe_comparet++, index compare++; index_compare !=
index.end(); index_compare++, coe_compare++) {
if (*index_iter) < (*index_compare)) {
int temp_index=x*index_iter, temp_coe=*coe_iter;
*index_iter = *index_compare;
*index_compare = temp_index;
*COe_iter = *coe_compare;
*COoe_compare = temp_coe;



}
index_iter = index.begin();// 37 A F MBI HY &R EF % K23 A9
coe_iter = coe.begin();
}
func operator+(func f1) {
func return_func=f1,;
for (; index_iter!= index.end(); index_iter++,coe_iter++) {
int repeat_mark=0;//#| W2 & 7E return_func FFTEIZISEIN
for (int i=0; i<return_func.indexsize(); return_func.index_iter++,
return_func.coe_iter++,i++) {
if (*return_func.index_iter == *index_iter) {
(xreturn_func.coe_iter) += *coe_iter;
repeat_mark = 1;

}
if (repeat_mark 1= 1) {//RF{LHEE, BHEBAZNIZHRERF.
return_func.index.push_back(xindex_iter);
return_func.coe.push_back(*coe_iter);

}
return_func.index_iter = return_func.index.begin();
return_func.coe_iter = return_func.coe.begin();

}

index_iter = index.begin();

coe_iter = coe.begin();

return_func.sort();

return return_func;

}
func operator-(func f1) {

func return_func = f1;

list<int>:iterator temp = return_func.coe.begin();

for (inti = 0;i < return_func.index.size(); temp++, i++) {
*temp = -*temp;

}

return_func.coe_iter = return_func.coe.begin();

for (; index_iter = index.end(); index_iter++, coe_iter++) {
int repeat_mark = 0;//¥|BT & 7E return_func FEEIZISEIN
for (int i = 0; i<return_func.indexsize(); return_func.index_iter++,

return_func.coe_iter++, i++) {

if (*return_func.index_iter == *index_iter) {
(xreturn_func.coe_iter) += *coe_iter,;
repeat_mark = 1;



}
if (repeat_mark = 1) {
return_func.index.push_back(x*index_iter);
return_func.coe.push_back(*coe_iter);
}
return_func.index_iter = return_func.index.begin();
return_func.coe_iter = return_func.coe.begin();
}
index_iter = index.begin();
coe_iter = coe.begin();
return_func.sort();
return return_func;
}
func operator=(func f1) {
func return_func=f1,;
int index_size = return_func.index.size();
for (; index_iter 1= index.end(); index_iter++, coe_iter++) {//4c3E B KRN
;E
for (int i=0; i<index_size;
return_func.index_iter++,return_func.coe_iter++, i++) {

return_func.index.push_back(xindex_iter + *return_func.index_iter);
return_func.coe.push_back(*coe_iter*+return_func.coe_iter);

}
return_func.index_iter = return_func.index.begin();
return_func.coe_iter = return_func.coe.begin();
}
/IEERE
for (inti=0; i<index_size;i++){
return_func.index.pop_front();
return_func.coe.pop_front();
}
return_func.sort();
int before_index = *return_func.index.begin();
inti=0;
for (return_func.index_iter++, return_func.coe_iter++;i<
return_func.index.size()-1; return_func.index_iter++, return_func.coe_iter++,i++) {

if (before_index == *return_func.index_iter) {
list<int>:iterator temp_index_iter = return_func.index_iter,
temp_coe_iter= return_func.coe_iter;
return_func.index_iter--;
return_func.coe_iter--;



|__

*return_func.coe_iter = *temp_coe_iter + *return_func.coe_iter;
return_func.index.erase(temp_index_iter);
return_func.coe.erase(temp_coe_iter);

}

else before_index = *return_func.index_iter;

}

return return_func;
}
void print_func() {//&itti, MRT—IMKTF 0 BizIAAE—I, HEMS, MR
IZI0 index>1, f i iz [coe]x A [index] AT, 2R index=1, % i [coe]x, 21 index=0,
N [coe] BERE—T .
list<int>:iterator index_printer = index.begin();
list<int>:iterator coe_printer = coe.begin();
int index_equal_to_zero = 0;
for (;index_printer!=index.end() ; index_printer++,coe_printer++) {
if (xindex_printer != 0 && =coe_printer > 0 && index_printer !=
index.begin())
cout << "+
if (xindex_printer != 0 && *index_printer != 1)
cout << xcoe_printer << "xN\" << xindex_printer;
else if (xindex_printer == 1)
cout << xcoe_printer << "X";
else
index_equal_to_zero= *coe_printer,

}
if (index_equal_to_zero > 0) cout << "+";
cout << index_equal_to_zero <<"=0" << endl;

2
int main() {
func f1, f2, add_func, multi_func, sub_func;
fl.input_func();
f2.input_func();
fl.sort();
f2.sort();
f1.print_func();
f2.print_func();

add_func = f1 + f2;
add_func.sort();
add_func.print_func();



sub_func = f1 - 2;
sub_func.sort();
sub_func.print_func();

multi_func = f1 * f2;
multi_func.sort();
multi_func.print_func();

cout << endl << "Programing By Sun Hongchao 16020021035" << endl;
return 0,

Vector SET (FEBTT) !

//author: ILBTT
//email: oucl6020021031@gmail. com
//description:

// e+ BFRUERRRRUE vector &2,
//SEB— e 2 I aaie . I8P FTE
/I el R e A

#idefine _CRT_SECURE_NO_WARNINGS
#include<iostream>
#include<vector>
#include<ctime>
#include<malloc. h>

using namespace std;

class Number
{
public:
int coefficient;

int index;

class Polynomial
{
public:

vector<{Number> container;



Polynomial (hool flag = false)//#t5iLZ T

{
while (flag)
{
vector{Number>::iterator it;
Number temp;
cin »> temp. coefficient;
if (temp. coefficient == 0)break;
cin »»> temp. index;
for (it = container.begin(); it != container.end(); it++)
if (it->index > temp. index) { it = container. insert(it
break: }
if (it == container. end())container. push back (temp) ;
1
Y/ /i pR

Polynomial (Polynomial& pol) { container = pol.container; }

int travelPrint ()
{
string str;
cout << "f(x) =7,
for (vector<{Number>::iterator it = container.begin(); it !=
container. end() ; it++)
{
if (it != container. begin())
{
if (it—>coefficient > 0)cout << 7 +7;

” 7

if (it—>coefficient < 0)cout << :

if (it—>coefficient == 1);
else if (it—>coefficient == -1)cout << 7-7;
else cout << (*it).coefficient;

if (it->index == 0);
else if (it—>index == 1)cout << "x”;

”_~n”

else cout << ”"x 7 << (*it).index;

if (it—>index == 0 && it—>coefficient == 1)cout << "17;
1
cout << endl << endl;

return 0;

Y/ /8 AT BN 2 I

temp) ;



Polynomial operator+(Polynomial& pol 2)

{

Polynomial pol 1 = *this;

vector{Number>::iterator itl, it2;

for (it2 = pol 2.container.begin(); it2 != pol 2.container.end();
it2++)

{

for (itl = pol I.container.begin(); itl != pol 1.container.end();

itl++)

if (itl->index > it2—>index) { itl =
pol 1.container. insert(itl, *it2); break; }
else if (itl->index == it2->index) { itl->coefficient +=
it2->coefficient:; break; }
}
if (itl == pol 1. container. end())
{ pol 1.container.push back (*it2); }
1

return pol 1;

/R T IBHEAT

Polynomial operator—(Polynomial& another)

{

*this;

Polynomial pol 2 = another;

Polynomial pol 1

vector{Number>::iterator it;

for (it = pol 2.container.begin(); it != pol 2.container.end(); it++)
it—>coefficient = —it-—>coefficient;

pol 1 = pol 1 + pol 2;

return pol 1;

/A A

Polynomial operator#* (Polynomial& another)
{
Polynomial *polynomials[100], result;
vector{Number>::iterator itl, it2;
Number temp;
int 1 = 0;
for (itl = container.begin(); itl != container.end(); itl++)
{
polynomials[i] = new Polynomial ();
for (it2 = another. container. begin(); it2 !=

another. container. end() ; it2++)

{



temp. coefficient = itl->coefficient * it2->coefficient;
temp. index = itl—>index + it2->index;

polynomials[i]->container. push back (temp) ;

}
it
}
for (int i = 0; i < container.size(); i++)
result = result + *polynomials[il];
return result;
Vi R
//E1 % £2 =al*f2+a2%f2+. .. tan*f2
//aixf2 => nPMEWEL, PR 2 BN

I
void info ()
{
cout << "ILBTR” << endl:
time t nowtime;
nowtime = time (NULL); //3REXH J7HS[H]
struct tm *local;
local = localtime (&nowtime); //FHCYHT RS0 [A]
char buf[80];
strftime (buf, 80, “%Y—%m—%d %H:%\:%S”, local);
cout << buf << endl;
getchar () ; //fEF% 451
getchar () ;
}
int main ()
{
Polynomial *polynomials[2];
int n = 2;
for (int 1 = 0; i < n; i++)
{
cout << IFHIEIAGT <1+ 1 <A IR RBORIREL, 7 <<
endl;

cout << "R NI ERIFR A, ~ << endl;

cout << "HRATHM AN — T RECH L, PR AR RRIT: 7 << endl;
polynomials[i] = new Polynomial (true) ;

cout << endl;

Polynomial add, substract, multiply;
for (int i = 0; i < n; i+H)//FHifl, 2



cout << 7 <1+ 1 <77 << endl;
polynomials[i]->travelPrint () ;
}
cout << “f1 + £2: 7 < endl:;//HHifl + £2
add = *polynomials[0] + *polynomials[1];
add. travelPrint () ;
cout << “f1 — £2: 7 < endl:;//HHifl — £2
substract = *polynomials[0] - *polynomials[1];
substract. travelPrint () :
cout << 7f1 % £2: 7 < endl://HiHifl * £2
multiply = *polynomials[0] * *polynomials[1];
multiply. travelPrint () ;
info();

return 0;
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